Answers

Children colour the three thermometers to reflect the temperature @
around school.

They complete the stem sentences to match the temperatures that
they recorded.

False. The red lines go up to the same position but the scales are @
different. A has intervals representing half a degree. B has intervals S

representing one degree. A shows 9°C. B shows 2°C.

London - 3°C
4

Edinburgh - 3°C

Cardiff - 7°C

London is 1°C warmer than Cardiff.

The temperature in Belfast could be 4°C, $°C, 6°C or 7°C.

Accept any sensible suggestions that children give a reason for. For example,
they might say December because it is a cold month.
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